



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$7^2 - (-3) =$$

$$(-8)^{(-1)} + (-2) =$$

$$(-7)^0 + 1 =$$

$$9^2 - 6 =$$

$$5^2 - 3 =$$

$$(-8)^2 - 1 =$$

$$7^{(-2)} + 8 =$$

$$3^{(-2)} + 3 =$$

$$(-8)^2 - 1 =$$

$$3^{(-2)} + (-3) =$$

$$4 + (-7) =$$

$$6^{(-1)} - (-10) =$$

$$5^2 - 2 =$$

$$10^{(-2)} - (-3) =$$

$$10^{(-1)} + 3 =$$

$$(-1)^2 - 2 =$$

$$4 + (-5) =$$

$$(-6)^2 - (-8) =$$

$$10^2 - 7 =$$

$$(-3)^{(-1)} - (-5) =$$



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$7^2 - (-3) = 52$$

$$(-8)^{(-1)} + (-2) = \left(-\frac{17}{8}\right) = \left(-2\frac{1}{8}\right)$$

$$(-7)^0 + 1 = 2$$

$$9^2 - 6 = 75$$

$$5^2 - 3 = 22$$

$$(-8)^2 - 1 = 63$$

$$7^{(-2)} + 8 = \frac{393}{49} = 8\frac{1}{49}$$

$$3^{(-2)} + 3 = \frac{28}{9} = 3\frac{1}{9}$$

$$(-8)^2 - 1 = 63$$

$$3^{(-2)} + (-3) = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$

$$4 + (-7) = (-3)$$

$$6^{(-1)} - (-10) = \frac{61}{6} = 10\frac{1}{6}$$

$$5^2 - 2 = 23$$

$$10^{(-2)} - (-3) = \frac{301}{100} = 3\frac{1}{100}$$

$$10^{(-1)} + 3 = \frac{31}{10} = 3\frac{1}{10}$$

$$(-1)^2 - 2 = (-1)$$

$$4 + (-5) = (-1)$$

$$(-6)^2 - (-8) = 44$$

$$10^2 - 7 = 93$$

$$(-3)^{(-1)} - (-5) = \frac{14}{3} = 4\frac{2}{3}$$